
B-TECH AV MOUNTS
www.btechavmounts.com

CONTENTS

INSTALLATION TOOLS REQUIRED

BTF841
UNIVERSAL DUAL STACK 
FLAT SCREEN FLOOR STAND (1.8m)
INSTALLATION GUIDE & PARTS LIST
This Pack Contains 1 Floor Stand

Crosshead
screwdriver

Installation Safety Notes.....................................................................................................................2
Parts List.............................................................................................................................................4
Installation Instructions.......................................................................................................................6
Product Dimensions..........................................................................................................................14
B-Tech Contact Details.....................................................................................................................16

PLEASE KEEP THIS FOR FUTURE REFERENCE

FEATURES

Recommended screen size (landscape orientation): 32" to 65" 
                                                       (portrait orientation): 32" to 46" 

per screen) 
®

W. H. 1841mm D. 

Can also be bolted to the floor 
I to level the screens

available separately) can be
   fitted directly to the column

65"
165cm

35kg

VESA
600

x  
400

46"
116cm

TM

Knife







BTF841
PARTS LIST

4

6

7

2 3
4

5

12
14

13

17

18

16

19

1

98

20

22
21



5

11
82

15

PART NAMEREF QTY
FREE STANDING BASE
HOLE CAP

43 M8 WASHER
44 M8 x 50mm SCREW

5AF HEX KEY

B
A

SE

212
1613
16 14

JOINING PLATE
M8 SLIDING NUT
M8 x 12mm SCREW

815
216

M8 x 16mm SCREW
5AF HEX KEY

JO
IN

IN
G

 K
IT

16

4
7

3
8

180cm VERTICAL COLUMN

180cm PLASTIC SLOT INSERT
CABLE COVER

1

9
210
211

END CAP

M8 SLIDING NUT
M8 x 12mm SCREW

   
   

C
O

LU
M

N

217
418

50cm MOUNTING RAIL
END CAP R

A
IL

M4 x 25mm SCREW
M4 x 12mm SCREW

M6 x 16mm SCREW
M4 x 40mm SCREW

M6 x 40mm SCREW
M6 x 25mm SCREW

M8 x 25mm SCREW
M8 x 16mm SCREW

MULTIWASHER 
M8 x 40mm SCREW

13mm SPACER
5mm SPACER

24mm SPACER

8A
8B
8C
8D
8E
8F

SCREEN FIXING KITREF QTY

8G
8H
8I
8J
8K
8L
8M

419
20 2
21

SCREEN INTERFACE ARM
5AF LONG HEX KEY

4
22 8

600mm ADAPTOR ARM
M8 x 12mm CSK SCREW

SC
R

EE
N

 IN
TE

R
FA

C
E 

K
IT

J

D E

CA B

F

G IH

PLEASE KEEP THIS FOR FUTURE REFERENCE

Optional 
To fix a shelf
to the column

10 11 15

K ML









1

3
4

5

9

1

3

6

Assemble Column to Base

GROUND ANCHOR

CONCRETE FLOOR

Optional: Bolting the Stand to the floor
Remove the hole caps (part 2) and adjustable rubber feet from the base (part 1). 
Pre-drill holes in floor and using suitable ground anchor fixings (not supplied), fix stand to floor.

2

Attach the column (part 6) to the base (part 1) using the M8 washer (part 3), M8 x 50mm screws
(part 4) and the 5AF hex key (part 5). Once base is fixed, return the stand to an upright position.

1

ADJUSTABLE
RUBBER FOOT















B-TECH AV MOUNTS 
 

HEAD OFFICE 
B-Tech International Limited 

Bennett House, Long March, Daventry, Northants., NN11 4NR, UK 
Email: info@btechavmounts.com 

 
 
 

AMA-BTF841-V1.1-1119-BTECH     MADE IN VIETNAM

www.btechavmounts.com

©2019 B-Tech International Design and Manufacturing Limited.  All rights reserved. 
B-Tech AV Mounts is a division of B-Tech International Design and Manufacturing Limited. 

B-Tech, Better By Design & System X are registered trademarks of B-Tech International Design and Manufacturing Limited. 
All other brands and product names are trademarks of their respective owners. 

Photographs are for illustrative purposes only.  E&OE. 


